PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A.PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
CUTTING SHEARS Al ASSEMBLY
LICENSE FILE NAME VERSION QUANTITY
CUTTING SHEARS.iam | 1.0 1
SCALE SHEET DATE
1:5 1/17




PARTS LIST

POS. IZ)CI)_?) QTY PART NAME FILE NAME PART TYPE | SPECIFICATIONS
A1 1 CUTTING SHEARS CUTTING SHEARS.iam ASSEMBLY
B1 1 PARTS LIST PARTS LIST ASSEMBLY
1 1 BODY BODY.iam ASSEMBLY
11 A1 1 UPPER BODY UPPER BODY.ipt PART
1.2 A2 1 LOWER BODY LOWER BODY.ipt PART
1.3 A3 1 SPACING BLOCK SPACING BLOCK.ipt PART
1.4 A9 1 DEPTH STOP DEPTH STOP.ipt PART
15 A6 1 STOP SPACER STOP SPACER.ipt PART
1.6 Ad 2 MOUNTING ANGLE MOUNTING ANGLE.ipt PART
1.7 A10 1 HARDEND INSERT FOR CROPPING HOLE HARDEND INSERT FOR CROPPING HOLE.ipt | PART
2 1 BLADE BLADE.iam ASSEMBLY
21 B1 1 UPPER BLADE UPPER BLADE.ipt PART
22 B2 1 LOWER BLADE LOWER BLADE.ipt PART
3 1 LEVER LEVER.iam ASSEMBLY
31 C1 1 LEVER PLATE LEVER PLATE.ipt PART
3.2 C2 2 CONNECTING LINK CONNECTING LINK.ipt PART
3.3 C3 1 LEVER LEVER.ipt PART
34 2 ANSI B18.2.4.5M - M20 x 2.5 ANSI B18.2.4.5M - M20 x 2.5.ipt PART
35 7 ANSI B18.2.4.5M - M10 x 1.5 ANSI B18.2.4.5M - M10 x 1.5 - 16.ipt PART
3.6 7 ANSIB18.2.3.2M - M10x 1,5 ANSI B18.2.3.2M - M10 x 1,5 PART
3.7 2 ANSI B18.2.3.6M - M20 x 2,5 x 35 ANSI B18.2.3.6M - M20 x 2,5 x 35.ipt PART

PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO

PART NAME PART CODE DOCUMENT TYPE MATERIAL
CUTTING SHEARS B1 ASSEMBLY STEEL METAL/ HARD STEEL

LICENSE FILE NAME VERSION QUANTITY
I PART LIST CUTTING SHEARS.iam| 1.0 1
SCALE SHEET DATE
2117 30/9/2020




PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
BODY 1 ASSEMBLY STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
BODY.iam 1.0 1
SCALE SHEET DATE
1:4 317 28/9/2020




300
180
120
115
o 20 R20
*o S \</
R20 11 _— 1 n
9 @20 I
)
- Y
S
@12 -
2
@20
02N
10° I
l
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
UPPER BODY 1.1 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
I UPPER BODY.ipt 10 1
SCALE SHEET DATE
1125 417 24/9/2020




15

100

207

170
124
80
40
reY 2
©
380
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LOWER BODY 1.2 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
I LOWER BODY.ipt 10 1
SCALE SHEET DATE
1/3 5117 24/9/2020




25

30

80°
'
©
~
127

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

SPACING BLOCK 1.3 PART STEEL METAL

LICENSE FILE NAME VERSION QUANTITY
| SPACING BLOCK.ipt 1.0 1
SCALE SHEET DATE

1:15

6/17

24/9/2020




40

R20

-+
R6
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
DEPTH STOP. 1.4 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
| e DEPTH STOP.ipt 1.0 1
SCALE SHEET DATE

1:1

mnr

24/9/2020




20

40

20

&N
S
g ] +
1/7 )
45 |
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
STOP SPACER 1.5 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
| STOP SPACER.ipt 1.0 1
SCALE SHEET DATE

1:1

8/17

24/9/2020




40

40

X

380
|———A,
360
V—
20
B
=
w 7 ASS
- @ - )| - 1T
| S S
! 2222z
B SECTION B-B
SCALE 1/2
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
MOUNTING ANGLE 1.6 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
| MOUNTING ANGLE.ipt 1.0 1
SCALE SHEET DATE
1/2 7 241912020




20

30

Jm
- 8

- 2)
B SECTION B-B
SCALE 1: 1
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
HARDEND INSERT FOR CROPPING HOLE 1.7 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
I HARDEND INSERT FOR CROPPIN[S HOLE.ipt 1
SCALE SHEET DATE
10117 24/9/2020

1:1




PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
BLADE 2 ASSEMBY HARD STEEL
LICENSE FILE NAVE VERSION QUANTITY
I BLADE jam 1.0 1
SCALE SHEET DATE
1/25 1 24/9/2020




70

[‘50°

280
210
R20 45
&
-@- - :
(o)
= 12
2| g1 R10 | o} |
R520
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
UPPER BLADE 2.1 PART HARD STEEL
LICENSE FILE NAME VERSION QUANTITY
| A emwvim| UPPERBLADEipt 1.0 1
SCALE SHEET DATE
112 12117 24/9/2020




250

70

170
80
&
I I @11

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

LOWER BLADE 2.2 PART HARD STEEL

LICENSE FILE NAME VERSION QUANTITY
I LOVER BLADE.ipt 1.0 1
SCALE SHEET DATE

112

13117

24/9/2020




PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LEVER 3 ASSEMBLY STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
I LEVER jam 1.0 1
SCALE SHEET DATE
1:4 14117 28/9/2020




67

12

@20

R20

e

210
170
@12 R18 - 89
)
34° o T
(Yo}
_ ] b0
T 3 e
S S
230
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NANE PART CODE DOCUMENT TYPE MATERIAL
LEVER PLATE 31 PART STEEL METAL
LICENSE FILE NAME VERSION QUANTITY
I LEVER PLATE pt 10 1
SCALE SHEET DATE
1715 15117 24/9/2020




105

@30

75

>

+ |
@12

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

CONNECTING LINK 3.2 PART STEEL METAL

LICENSE FILE NAME VERSION QUANTITY
| CONNECTING LINK.ipt 1.0 1
SCALE SHEET DATE

1:1

16/17

24/9/2020




40

800
|———A\/
109.4
37
|
1
- - S S +
! |
| R20
@12
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LEVER 33 PART STEEL METAL
LICENSE 0 FILE NAME VERSION QUANTITY
| N ewer| LEVERD 1.0 1
SCALE SHEET DATE
113 1717 24/9/2020




